Plan na dzien 2i 3 lutego 2018r.

1KKZ-M_(S) 1KKZ-S_(S) 1KKZ-D_(O)
N P S| N P S|N P S
9 15:10-15:55 TM|wykon.rm-t |[wlJWW |[wykwyr.sto |w3|Br [masz.iurz. |107
TK Jwykon.r.m-t |w2|Pe [wykwyr.sto |w4
10 16:00-16:45 TM|wykon.rm-t |[wlJWW |[wykwyr.sto |w3|Br [masz.iurz. |107
TK Jwykon.r.m-t |w2|Pe [wykwyr.sto |w4
11 17:00-17:45 TM|wykon.rm-t |wlJWW |[wykwyr.sto |w3|Br [masz.iurz. |107
~ TK Jwykon.r.m-t |w2|Pe [wykwyr.sto |w4 ~
% 12 17:50-18:35 TM|wykon.rm-t |[wlJWW [wykwyr.sto |w3|Mj|r.zaw.iko |108 %
o TK Jwykon.rm-t |[w2]Pe |wykwyr.sto |w4 o
13 18:40-19:25 TM|wykon.r.m-t [wl|WW Jwykwyr.sto |w3[Mj[r.zaw.iko |108
TK Jwykon.r.m-t |w2|Pe |wykwyr.sto |w4
14 19:30-20:15 TM|wykon.rm-t [wl|WW |wykwyr.sto |w3[Mj[r.zaw.iko |108
TK Jwykon.r.m-t |w2|Pe [wykwyr.sto |w4
15 20:20-21:05 TM|wykon.rm-t [wl]WW |[wyk.wyr.sto |w3
TK [wykon.r.m-t |w2]Pe |wyk.wyr.sto [w4
0 0:00- 0:00
1 8:00- 8:45 TM |wykon.r.m-t |wl|WW [wyk.wyr.sto [w3]Mj [technologia [108
TK |wykon.r.m-t [w2]Pe [wyk.wyr.sto |w4
2 8:50- 9:35 TM|wykon.r.m-t |wl|WW [wyk.wyr.sto [w3]Mj [technologia [108
TK Jwykon.r.m-t [w2]Pe [wyk.wyr.sto |w4
3 9:40-10:25 TM|wykon.r.m-t |wl|WW [wyk.wyr.sto [w3]Mj [technologia [108
TK |wykon.r.m-t [w2]Pe [wyk.wyr.sto |w4
4 10:50-11:35 TM|wykon.r.m-t |wl|WW [wyk.wyr.sto [w3]|Br [masz.iurz. [107
TK |wykon.rm-t |w2]Pe |wyk.wyr.sto |w4
< ISR TM]wykon.rm-t  (wlJWW |wykwyr.sto (w3|Br |masz.iurz. |107|
3 TK |wykon.r.m-t |w2|Pe |wykwyr.sto |w4 3
@ [ 6 12:30-13:15 TM|wykon.rm-t |[wlJWW [wykwyr.sto |w3|Br [masz.iurz. |107 A
TK |wykon.rm-t |w2]Pe |wyk.wyr.sto |w4
7 13:30-14:15 TM|wykon.r.m-t |wl|WW |wyk.wyr.sto [w3]|Br [masz.iurz. [107
TK |wykon.r.m-t |w2]Pe |wyk.wyr.sto |w4
8 14:20-15:05 TM|wykon.r.m-t |wl|WW [wyk.wyr.sto [w3]|Br [masz.iurz. [107
TK |wykon.rm-t |w2]Pe |wyk.wyr.sto |w4
9 15:10-15:55 TM|wykon.r.m-t |wl|WW [wyk.wyr.sto [w3]|Br [masz.iurz. [107
TK |wykon.r.m-t |w2]Pe |wyk.wyr.sto |w4
10 16:00-16:45 TM|wykon.r.m-t |wl|WW [wyk.wyr.sto [w3]|Br [masz.iurz. [107
TK |wykon.r.m-t |w2]Pe [wyk.wyr.sto [w4
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